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NEW QUESTION 1
Given the code fragments:

Which code fragment, when inserted at line n1, enables the code to print Hank?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 2
You are asked to develop a program for a shopping application, and you are given this information:

 The application must contain the classes Toy, EduToy, and ConsToy. The Toy class is the superclass of the other two classes.

 The int calculatePrice (Toy t) method calculates the price of a toy.

 The void printToy (Toy t) method prints the details of a toy.
Which definition of the Toy class adds a valid layer of abstraction to the class hierarchy?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 3
Given the definitions of the MyString class and the Test class:

What is the result?

A. Option A
B. Option B
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C. Option C
D. Option D
E. Option E

Answer: D

NEW QUESTION 4
Given the code fragment:

What is the result?

A. An exception is thrown at runtim
B. 07-31-2014
C. 2014-07-31
D. 2014-09-30

Answer: A

NEW QUESTION 5
Given the code fragment:

What is the result?

A. Sum is 600
B. Compilation fails at line n1.
C. Compilation fails at line n2.
D. A ClassCastException is thrown at line n1.
E. A ClassCastException is thrown at line n2.

Answer: C

NEW QUESTION 6
Given the code fragment:

What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 7
Given the code fragment:

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 1z0-808 dumps!
https://www.certshared.com/exam/1z0-808/ (223 Q&As)

What is the result?

A. 1324
B. 2313
C. 3142
D. 4231

Answer: D

NEW QUESTION 8
Given the code fragment:

What is the result?

A. 2 4
B. 0 2 4 6
C. 0 2 4
D. Compilation fails

Answer: C

NEW QUESTION 9
Given:

What is the result?

A. Welcome Visit Count:0Welcome Visit Count: 1
B. Compilation fails at line n2.
C. Compilation fails at line n1.
D. Welcome Visit Count:0Welcome Visit Count: 0

Answer: C

Explanation: 

NEW QUESTION 10
Given these two classes:
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Any amount of electricity used by a customer (represented by an instance of the Customer class) must contribute to the customer's bill (represented by the
member variable bill) through the useElectricity method.
An instance of the Customer class should never be able to tamper with or decrease the value of the member variable bill.
How should you write methods in the ElectricAccount class at line n1 so that the member variable bill is always equal to the value of the member variable kwh
multiplied by the member variable rate?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 10
Which two statements are true about Java byte code? (Choose two.)

A. It can be serialized across network.
B. It can run on any platform that has a Java compiler.
C. It can run on any platform.
D. It has “.java” extension.
E. It can run on any platform that has the Java Runtime Environment.

Answer: AE

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 1z0-808 dumps!
https://www.certshared.com/exam/1z0-808/ (223 Q&As)

NEW QUESTION 15
This grid shows the state of a 2D array:

The grid is created with this code:

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = ‘X’;
B. grid[3][2] = ‘X’;
C. grid[3][1] = ‘X’;
D. grid[2][3] = ‘X’;

Answer: D

NEW QUESTION 17
Given:

And the code fragment:

Which code fragment, when inserted at line 14, enables the code to print Mike Found?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 22
Given:

What is the result?

A. AB
B. AC
C. CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 25
Given the code fragment:

What is the result?

A. 2012-02-10
B. 2012-02-11
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C. Compilation fails
D. A DateTimeException is thrown at runtime.

Answer: D

NEW QUESTION 27
Given:

And the code fragment:

What is the result?

A. C1C2
B. C1C1
C. Compilation fails.
D. C2C2

Answer: A

Explanation: 
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NEW QUESTION 28
Given the code fragment:

What is the result?
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A. 2012-02-10
B. 2012-01-30
C. 2012-02-10 00:00
D. A DateTimeException is thrown at runtime.

Answer: C

NEW QUESTION 31
Given the code fragment:

What is the result?

A. An exception is thrown at runtime.
B. -1
C. 5
D. 10

Answer: A

NEW QUESTION 32
Given the code fragment:

What is the result?

A. 3
B. 4
C. -1
D. Compilation fails.

Answer: A

NEW QUESTION 35
Given:

What is the result?

A. Compilation fails.
B. false true
C. true false
D. true true
E. false false
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Answer: B

NEW QUESTION 37
Given:

What is the result?

A. nullRichardDonald
B. RichardDonald
C. Compilation fails.
D. An ArrayIndexOutOfBoundsException is thrown at runtime.
E. A NullPointerException is thrown at runtime.

Answer: E

NEW QUESTION 40
Given this class:

Which two changes would encapsulate this class and ensure that the area field is always equal to length * height whenever the Rectangle class is used?

A. Call the setArea method at the end of the setHeight method.
B. Call the setArea method at the beginning of the setHeight method.
C. Call the setArea method at the end of the setLength method.
D. Call the setArea method at the beginning of the setLength method.
E. Change the setArea method to private.
F. Change the area field to public.

Answer: AE

NEW QUESTION 44
Given this segment of code:

Which two statements, if either were true, would make the code compile? (Choose two.)

A. MotorCycle is an interface that implements the Cycle class.
B. Cycle is an interface that is implemented by the MotorCycle class.
C. Cycle is an abstract superclass of MotorCycle.
D. Cycle and MotorCycle both extend the Transportation superclass.
E. Cycle and MotorCycle both implement the Transportation interface.
F. MotorCycle is a superclass of Cycle.
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Answer: BC

NEW QUESTION 47
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.
C. Error is a RuntimeException.
D. Error is an Exception.
E. Error is a Throwable.

Answer: BC

NEW QUESTION 52
Which three statements describe the object-oriented features of the Java language? (Choose three.)

A. Objects cannot be reused.
B. A subclass must override the methods from a superclass.
C. Objects can share behaviors with other objects.
D. A package must contain a main class.
E. Object is the root class of all other objects.
F. A main method must be declared in every class.

Answer: BCF

NEW QUESTION 57
Which statement will empty the contents of a StringBuilder variable named sb?

A. s
B. deleteAll ();
C. s
D. delete (0, s
E. size () );
F. s
G. delete (0, s
H. length () );
I. s
J. removeAll ();

Answer: C

NEW QUESTION 60
......
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